51.000.4.0032
58.009.3.0005

N'2 SELF-LOCKING SCREW (VTSIC) 23.5x13

52A999.4A0246 COMPLETE SWITCH 230V/50Hz

51.000.3.0620

N'3 RIVETS

51.000.3.1139

MOTOR AND SERIAL NUMBER PLATE

51‘000‘3‘0468 FAIRLEAD FOR 230V/50Hz

25.000.3.0010

51.000.3.0039

58.003.3.0404

N*4 SCREW (VTCEI) M4x16

51.000.4.0033

51.000.3.0620

N4 RIVETS

51.000.3.1240

51.000.3.0055

51.000.3.0407

51.000.3.0412

51.000.4.0031BKT

51.000.3.0038

58.003.3.0607

N2 SCREW (VTCEI) M6x30

51.000.3.1121

51.000.3.0620

N'3 RIVETS

58.032.3.0001

SNAP RING 234.5x028x0.5

58.022.3.4002

N'2 WASHER @5, 3xa15x1,5

58.003.3.0508

N'2 SCREW (VTCEI) M5x60

58.022.3.2003

PAGE 2

58.022.3.3002

N2 NOTCHED WASHER @5

PAGE 2

51.000.3.0620

N2 RIVETS

N4 NOTCHED WASHER o6

58.003.3.0610

N'4 SCREW (VTCEI) M6x60

51.000.3.1238

25.000.4.0001BKT

K&T STANDARD COLOUR: GREY RAL 9006 (ANY OTHER RAL COLOUR AVAILABLE ON DEMAND AND SUBJECT TO A MINIMUM REQUESTED QUANTITY)

25.999.5.0000GKT - VEGA 230V/50Hz GREY 9006
25.999.5.0000SWGKT - VEGA 230V/50Hz SPHERICAL WHEEL GREY 9006

@ KUNZLE & TASIN
& )) Via CAJKOVSKIJ 14-20092-CINISELLO BALSAMO (MI)
TEL. 02/66040930 FAX 02/66013445

VEGA

230V/50Hz

COMMERCIALE

PAGE 1/6

MAY 2016




02.999.4.0000

STATOR 230V /50Hz

02.999.4.0225 e

COMPLETE ROTOR 230V /50Hz

| 52.999.4.0239 | oo 2o o

51.000.4.0415
COOLING FAN
51.000.4.0417
04.000.4.0418
VACUUM FAN

58.040.3.2010

BEARING 6202 —~2RS1

51.000.3.0045

51.000.3.0046

= COMMERCIALE
@ Via CAJtE)gKN 1Z4—L20E092—<%fNISE-E_I(?\BSAL|SI>IMO (M) VEGA PAGE 2/6

TEL. 02/66040930 FAX 02/66013445 230V/50Hz MAY 2016




51.000.4.0034BKT

58.003.3.0605

N'4 SCREW (VTCEI) M6x22

51.000.3.0029

58.022.3.2003

N4 NOTCHED WASHER 26

51.000.3.0001

51.000.3.0083——

51.000.3.0013

25.000.3.0009
CLOSURE STUD M8x35
58.022.3.0004
WASHER ¢8,4x016x1,6
52.999.4.0214BKT
52.999.4.0213BKT 95 000.3.0007
25.000.3.0005
58.005.3.0402
N6 SCREW (VTSIC) M4x12
25.999.4.0003
58.006.3.0604
N3 SCREW (VTSE\) MBx18
25.999.4.0007
58.005.3.0402
N6 SCREW (VTS\C) M4x12
52.999.4.0546GA ‘
22.{9%9.3.0003 @

51.000.3.0050

YT

58.007.3.0803

SCREW (VTE) M8x25

25.999.4.0003

e COMMERCIALE
@ Via CAJtE)gKII}l 1Z4—L20E092—<%§NISE-E_/(?\BSAL|SI>IMO (Mr) VE GA PAGE 3/6

TEL. 02/66040930 FAX 02/66013445 MAY 2016




02.999.4.0213BKT

COMPLETE "SPHERICAL WHEEL™ GROUP RAL 9006

58.007.3.0805
SCREW (VTE) M8x35
58.015.3.1001
N'2 GRAIN M5x6
51.000.4.0054BK T
SN.999.5.035N0BMOD
WHEELS COMPLETE GROUP RAL 9006
58,019.3.0010
: 58.022.3.0005
WASHER #10,5x820
58.007.3.0805
SCREW (VTE) M8x35
58.019.3.4002
LOW NUT M10
51.000.4.0051BKT
52.999.4.0530
58.006.3.1002

SCREW (VTSEI) M10x60
66.999.4.0012

COMPLETE WHEEL

51.000.3.1131

e COMMERCIALE
@ Via CAJtE)gKII}l 1Z4—L20E092—<%§NISE-E_/(?\BSAL|SI>IMO (Mr) VE GA PAGE 4/6

TEL. 02/66040930 FAX 02/66013445 MAY 2016




24.000.3.0064

2 PAPER DUST BAGS BLISTER

02.999.4.057/6

COMPLETE PAPER BAG HOLDER

02.999.4.0080

SACCO SERIGRAFATO

02.000.2.0468

SACCO TELA NEUTRO

3

04.999.4.05/0

COMPLETE COMPASS

02.999.4.0575

BAG HOLDER

N

)

24.999.4.0005

ADAPTER FOR EXTERNAL VACUUM UNIT

G

01.000.3.1283

PLUG ADAPTOR 13A UK

@ KUNZLE & TASIN
<;\_-42» Via CAJKOVSKIJ 14-20092-CINISELLO BALSAMO (MI)
TEL. 02/66040930 FAX 02/66013445

COMMERCIALE

VE G A PAGE 5/6

MAY 2016




29. OOO 3 0135

7 MT POWER CABLE (SO UKO+PLUG USA)

29.000.3.0115

7 MT POWER CABLE (SOCKET AND PLUG SCHUKO)

0/.999.3.0019

10 MT POWER CABLE (SOCKET AND PLUG USA)

02.999.5.0001

15 MT POWER CABLE (SOCKET AND PLUG USA)

29.000.5.00/8

CABLE 200 MM + PLUG SCHUKO

02.999.4.1191

CABLE 200 MM + PLUG USA

02.999.4.0581

TOOLBAG

31.890.3.01 44

sssssssssssssss

el
@l\& KUNZLE & TASIN
) Via CAJKOVSKIJ 14-20092—CINISELLO BALSAMO (MI)
TEL. 02/66040930 FAX 02/66013445

COMMERCIALE

PAGE 6/6

MAY 2016




